MEG Series
PC Case
MEG MAESTRO 700L PZ

User Guide



Contents

SPECIHICATIONS .. 3
ACCESSOTY BOX T 5
ACCESSOMY BOX 2.ttt 6
£aSE FRATUMES ...t 7
Side and Front VIEW .....ccoiiiii e 8
[/0 @Nd BULLONS ...eitiei e 9
Glass Cover REMOVAL.......c.cociiiiiiiecie e 10
Side Panel RemMoval. ..o "
Motherboard Installation ... 12
Vertical Graphics Card Installation .........cocceeiiiiiiiii e 13
Vertical Graphics Card Bracket Removal.........cccccooiiiiiiiiiiiice, 14
Horizontal Graphics Card Installation.........ccocoeiiiiiiiiii e 15
GPU Holder Installation and Adjustment ..o 16
SSD & HDD INStallation ......cccveiiiieeiieeeeee e 17
PSU INSallation ..ooceeeecieece e 18
Fan Compatibility and SetUP......cceeiiiiie e 19
Radiator Compatibility and Setup.......ccoieiiiii e 20
Top Panel 1/0 CoONNECION ....oiiieiiieecei s 21
General INformation ..o 22



Specifications

Basic Information

Product Name MEG MAESTRO 700L PZ

Color Black

Case Type Mid Tower

Dimensions (DxWxH) 470 x 300 x 474 mm

EATX, ATX*, Micro-ATX, Mini-ITX

Supported Motherboard
* Supports ATX back-connect motherboard

Cooling Fan Support

Top 3 x120mm or 3 x 140mm

Front No

Rear 1x120mm

Side 3x120mm

Bottom 3x120mm or 3 x 140mm

Expansion Slots

Horizontal GPU Bracket 7 slots

Vertical GPU Bracket

(pre-installed) 3 slots

Drive Bays

2.5" SSD or 3.5” HDD 2

1/0 Ports and Buttons

2x USB 3.2 Gen1 Type-A
1 x USB 3.2 Gen 2x2 Type-C

USB Ports

Audio Ports 1 x Audio/Microphone combo jack

1 x Power button

Buttons

1 x Reset button




Chassis Clearances

Maximum CPU Cooler Height 170 mm

Maximum GPU Length 430 mm

Top Radiator Support 360 mm

Rear Radiator Support 120 mm

Side Radiator Support 360 mm

Bottom Radiator Support 360 mm

PSU Support 230 mm

Materials

Metal Specification SPCC + Aluminum

Front Bezel Material Aluminum + Tempered Glass

Left Side Panel 4mm tempered glass

Right Side Panel Aluminum

Top Bezel Aluminum

Top: Metal filter
Bottom: Metal filter

Dust Filter

GPU holder Aluminum + Steel




Accessory Box 1

Item Name / Q’ty

Cable ties
x5

Used for

Cable management

Screw M3 5mm
x21

© (=

Motherboard / SSD

Screw #6-32 6mm
x8

O I

Securing PSU / PCle
Card

Stand-off #6-32 6.5mm
X2

©

Motherboard Stud

Stand-off Mounting Tool

x 1

Securing motherboard /
PCle riser cable

Screw #6-32*8*12mm
x8

3.5" HDD

Screw #6-32 7.5mm
X24

Securing liquid cooling
radiator

Hook-and-loop fastener
x2

Cable management

Cleaning cloth

x1

Wiping the case

PCle slot covers
xXh

Empty PCle slots

Parts box

x1

Storing parts

PCle 4.0 Riser Cable

x1

Installing vertical
graphics card




Accessory Box 2

Item

O

Name / Q’ty

Spare silicone pad

x1

Used for

Graphics card bracket

Screw label

x1

Installing in the GPU
holder screw

Screw #6-32*%6

Securing the graphics

e
-

X2 card bracket
S GPU holder Supporting the
x1 horizontal graphics card




Case Features




Side and Front View

470mm

300mm

wuy Ly



1/0 and Buttons

~

YA\g VA VA JA\VARRWAN
AV ANNVAAAN VVV
PANV/ANWANVERV/A\VERRWA\V/ANVERVERV/AN
N NVANNA NV N NAVAVA
N/A\V/A\V/ANWANVERAV/AV/ANVEAV/ANWAYS
PA\VAR/A\V/ANV/ANV/ANV/ANV/ANV/ANY/ANV/ANYS
VAVAVA NN NN NAVA
JA\V/ANV/ANV/ANV/ANV/ANV/ANY/ANV/ANY/ANV/ANYS
NZA\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/A\V/AN
JA\V/ANV/A\V/ANV/ANV/ANV/ANV/ANV/ANY/ANV/ANY4
NZA\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/A\V/AN
JA\V/ANV/ANV/ANV/ANV/ANV/ANY/ANV/ANY/ANV/ANYS
NZA\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/A\V/AN
JA\V/ANV/ANV/ANV/ANV/ANV/ANY/ANV/ANY/ANV/ANYS
NZA\V/ANV/ANV/ANV/ANV/ANV/ANV/A\V/ANV/A\V/AN
JA\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANY/ANV/ANYS
NZA\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/A\V/AN
JA\V/ANV/ANV/ANV/ANV/ANV/ANY/ANV/ANY/ANV/ANYS
NZA\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/A\V/AN
JA\V/ANV/A\V/ANV/ANV/ANV/ANV/ANV/ANY/ANV/ANY4
NZA\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/A\V/AN n e

e

JA\V/ANV/ANV/ANV/ANV/ANV/ANY/ANV/ANY/ANV/ANYS
NZA\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/A\V/AN
JA\V/ANV/ANV/ANV/ANV/ANV/ANY/ANV/ANY/ANV/ANYS
NZA\V/ANV/ANV/ANV/ANV/ANV/ANV/A\V/ANV/A\V/AN
JA\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANY/ANV/ANYS
NZA\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/A\V/AN
JA\V/ANV/ANV/ANV/ANV/ANV/ANY/ANV/ANY/ANV/ANYS
NZA\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/A\V/AN
JA\V/ANV/A\V/ANV/ANV/ANV/ANV/ANV/ANY/ANV/ANY4
NZA\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/A\V/AN
JA\V/ANV/ANV/ANV/ANV/ANV/ANY/ANV/ANY/ANV/ANYS
NZA\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/A\V/AN
JA\V/ANV/ANV/ANV/ANV/ANV/ANY/ANV/ANY/ANV/ANYS
NZA\V/ANV/ANV/ANV/ANV/ANV/ANV/A\V/ANV/A\V/AN
YA\V/ANV/A\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/AN/AN
NZA\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/INY/ANVER /AN VARVA
YA\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANY/ANV/ANY/ANV/ANY/ANV/ANVERV/AN
AZA\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANVERV/ANIAN
PA\V/ANV/A\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANY/AVARVERVEIRVAN
NZA\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/AIANVAR V/AN
JA\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANY/ANV/ANY/ANV/ANY/ANVERV/ANRV/AN
AZA\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANVARRWANV/AN
PA\V/ANV/A\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANY/ANV/ANY/ANWANVERVERYS
AY/A\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/INV/ANV/NNVARVERYS
AYZA\V/ANV/A\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANRSAV/ANWAN
EV/A\V/ANV/A\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANVERV/ANWAN
k AV/A\V/ANV/ANV/ANV/ANV/ANV/ANV/ANV/ANY/ANV/ANV/A\VARV/ANWAN

Item  Description

1 Audio/Microphone combo jack

o0

Q0 = 8

2 USB 3.2 Gen 2 Type-C port

3 USB 3.2 Gen1 Type-A port

4 Reset button

5 Power button




Glass Cover Removal




Side Panel Removal

S SIS SIS SIS
SESESSSES




Motherboard Installation

&%.
:%%%
-

S
R R R U/




Vertical Graphics Card Installation

N

I

4
8
Y S iy N
CRESSENERRN S S50, @) \
Y LASGNSTNINTSSTASTN
& p: (=
¢ TSNS SNSRI S ST,

NI & > N B\

T




Vertical Graphics Card Bracket Removal

e
SEEESSssS

DRI

TTAT D AT AT AT A




Horizontal Graphics Card Installation




GPU Holder Installation and Adjustment




SSD & HDD Installation




PSU Installation

= SSEESSS
VAWVGD%VD@GD@@D%A -
S

AR

AT AN ANTY

o
A XXX XXX

S S

RO

o RS, o
T

A AN

2




Fan Compatibility and Setup

140mm x 3 | I —
120mmx3 I N

120mm x 1

120mm x 3



Radiator Compatibility and Setup

280/360mm

I 120mm

360mm

280/360mm



F_PANEL

HERH

v

Wy i,
Y g S0
by
y
T iy 00y
g
Vet

Top Panel I/0 Connection

HD AUDIO

I

I

I

|

|

v

.
o
V a1
a gt ol
pgddagy’ EA
vy g g 20

L}
L
47
4]
i

!

JFP1

JUsB JAUD1

(USB 3.2 Gen1)

JusB
(USB 3.2 Gen2)




General Information

Copyright and Trademarks Notice
Copyright © Micro-Star Int'l Co., Ltd. All rights reserved.

The MSI logo used is a registered trademark of Micro-Star Int’l Co., Ltd. All other
marks and names mentioned may be trademarks of their respective owners. No
warranty as to accuracy or completeness is expressed or implied. MSl reserves the
right to make changes to this document without prior notice.

All text, images, illustrations, and other content in this manual are the property of
MSI. No part of this manual may be reproduced, distributed, or used in any form
without the written permission of MSI.

Revision History
e Version 1.0, 2023/11, First release.

FR

3 [—]



	Specifications
	Accessory Box 1
	Accessory Box 2
	Case Features
	Side and Front View
	I/O and Buttons
	Glass Cover Removal
	Side Panel Removal
	Motherboard Installation
	Vertical Graphics Card Installation
	Vertical Graphics Card Bracket Removal
	Horizontal Graphics Card Installation
	GPU Holder Installation and Adjustment
	SSD & HDD Installation
	PSU Installation
	Fan Compatibility and Setup
	Radiator Compatibility and Setup
	Top Panel I/O Connection
	General Information

